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Duectmns Q. No.1-3:- Ma;k the correct antonyms out of the four choxces gwen of the

~following words :-
k... Slick

A) Cluméy B) Out;ageous : C) A\\fakelled D) Indudlble

S 2 . :'huculent .

© A)Defiant 'B_) Amiable. C) Snbbbish __b')Ru'thles's b

3 Tenuous -

~A) Visible L B) Bllttle s C) S‘uong D) Scattered

Dn ectlons Q. No. 4- 7 Malk out of the fom gwen chowes the conect meamng of the 1tal1olzed' :.
- idioms/phrases used in the following sentences:-. .- Ll TR :
-4, ... Both of them knew that they wete under rhe hm row -

".A) sucoessful - 1B) ambitious 0 abusmg each othel D) h.l. distfeSS R &

R 5. It is clear that the Jury is out on the Kashm1r—lssue

et blanks of the following sentences:-~ =

o 1() “One should not be covetous othels nches
S 1L The element common to all amds is '_ 53-"

i "_:.::.]2-..:':_'-..-_;:Thc Saliva he]ps in 1he dlgestlon of

L 13 = Uncontrolled mdustuahsation ]eads to, acxd rain. Il is mamly contnbuted by o

- A) no decision has yet been reached " B) decision has. been 1eached _
oy -'C) dec;snon has been afﬁlmed o D) dec:lsmn has beemevokcd

e, n this tncky sﬂuailon we have to ](mce lhe bmi
-+ A) seek support from others - o ' L : S
e B) take decisive action to pul dI] end 10 an undesuabie Sltuatlon G
.0 kill others for. our sunvwal L e A B
D) stay calm Gt

- 7 'Indla managcd to vhoot Pakman s fm on the delunu-lssuem the UN ._;j e

A) criticized Pakistan for its policies ~ =0
. B) neutralized Pakistan’ splop&ganda e
0 thwarted Pakistan’s plans by pre- empting them

D) depl(ned Paklstan s record of human nghts o

"Dlrectlons Q. No. 8- 1{} Choose the conect p1ep031t10n out of fom optlons to be ﬁ]led in the___'*. i

- 8, - -"Rohlt Sharma _spelfmmance IS nbt consmtent hlS techmcal bull;ance
Aol Byfor .

"::"_:_A) of ;. ";Z' ::_- i B) f01 C) w1th D) abo.ut

Ayabou Byof C)wnth. '- ;-__D_)_fqr_'

"'_'_A) calbon : )hydiogen C) oxygen

oo A) proteins - B) fats = .Q) hbxes . -:..:D) stdich
- A) Carbon dxomde _ B) methanc gas - - i
S0 ) Chlorofluro calbons, = - D) nitrous and sulphm d1o>ude

oA “Which of the foilowmg is the science dealmg with tumor?

BN Heedies& my hmely advlce Hdll 15 smeto comldtsastel soon.

“A) Concology B) Serology .- o C) Oncology _ D)Chronology

115, ‘Fertility of soil can be improved by
LAY addmg dead earthworms =
.. 'B) removing dead earthworms S
EORRUEY 6)) addmghvmgearthwonns S - T
R D) 1emovmg hvmg earthworms and addmg dead earthwmms i
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The East India Company was founded in India during the reign of AR
A) Jahanglr B) Akbar C) Shah Jahan ;.D) Aufangzeb o

_3'Bcf01e the rise OfRal’lJlt Smgh Punjab was undet the control of .- A
;A) M'uaiha commandexs “B) mldel gloups ' C) tubal chiefs i D) Slkh Msis B e P
) Vande Matazam was filSt sung at the session of the Indlan Natlonal Congless in - R
A) 1886 SRty B) 1892 7.0 C) 1896 D) 1904
Who was the fust Indlan to pass ’fhe Indlan C1v1l Seivlce‘? '_ . : SRR
.. A)Dadabhai Naoroji S B) Surendlanath Baneljee 5
-+ C) Bal Gangadhat Tilak - D)D.N. Wacha i
_ _ Which of the following is not a part of 1he Pxeamble to the Indlan Constltutlon'? S
A Seculausm B Somahsm B C) Demociatlc Repubhc D) Fed_er_al_ism
The first woman Governor_of a state in free India was e
*A) Mrs, Sarojini Naidu .- B) Mrs. Sucheta Kllpalam
O Mts }ndna Gandhi S D) st V]}aya Laxml Pand!t
F iscal Pohcy is, conccmed w;th :_' = U L s
.12 A) Public revenue S B) Puhhc e\pen(htme and (lebl'
a0, B'mk mie pohcy R s IS D) Both (a) dlld (b) O &
'3'_'-When was Consume1 Pmtectlon Act (COPRA) passed‘? _ i G
B A) 1984 ‘B) 1980 . _ C) 1986 T -D) 1995 i

29,

. between the two words to the rlgh’t of the sngn
“West : North-East R South

e C01131der the foHowmg taxes L e
.41, Cor po;atmn Tax 2. Value Added ] ax 3 Wealth Tax -; 1
i '.-.Wh:ch of these ls/are Indirect tams‘7 c :

A Only i B) 2 ancl 4. C) l and 3

25,

3 o Z_"Shlp is Ielate_d to ‘(,apiam in 1hc_ _samc way as ‘\'e\\fspflp_el ss 1claled to i R
e A) Reade1 B) Puntel C) Publlsllel D) EdllOI i

4 ImpcrtDuty o

o D)l 2and4

-'___-Nattonal Educatlon Day is obselved on Novembet 11 evely yeal Who among the
- following leaders is remembered on this occasmn'? R o

© " A)Dr.RajendraPrasad - . B) Swami Vlvekanand :
e 0 D1 Sawapalll Ra(lhakushnan s D) Maulana Abdul Kalam Azad
Crmiiman ."A) David Beckam B) Pc]e C) Dch;,o Mamdona D) onncl 1\16531 S

The booL tidled ¢ 1283’ is about oflhe ca;eel IHHSlldlIOI] ofwhlch fooibdll let,ezld')

: .-Wluch day is celehlated as ‘Natlonal Technology Day Sy o
o A)May L ‘B)Feb.28 . C)May 17 ':- D) Sept 16
- 28, Which of the foIlowmg pelsonahtles was awarded the Gandhl Peace Pnze for 2013 B
Lo AYMS. Swamlnathan B) Amat’tya Sen | C) Chand1 Plasad Bhatt D) Medha Patekar RIS

_' | Whlch of the followmg states did win the Ran_]l Tmphy 2014
A Kamaldka e B) Malmastla +C) Delhi -

_ _' Who dmong tlle foilowmb has wulten thc book ‘Emelg,ency Aleu e B
o '-'_-A) Vah Nam B) Kuldeep Nayal =C ) Khuswant Singh - D) Gem ge Fem&ndes

Choose thc w01d ﬁom the gwen altematlves that shows the same lelatlonshlp as is found " "

 A)North-West B)South East C)North D)EaSt
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33.  Which of the following does not fit in the letter numbel series gwen below‘?
- G4T, JIOR, M20P, P43N - i :
_ .A)JIOR SR CB)GAT C) P43N ; ': - D)MZOP

34, In the folimvmg, tluee ‘out of the four altematlves have same 1clat:onshlp You have to'_ S

- ~choose the one whlch does not belong to the group. L
: A)22 0 o B)24 12 B C)23 5. _5;{-_ D)24 18

35 ICTEMPLEIs coded as VAQNIA, how would you code CHURCH‘? it

39 6418629

 AEKYWI . B)EKYQZD  CQ)EKYPZD D)EKYQWD

:"_.'36. ' Ina certam language si po re’ means ‘book is thlck’ bt na re’ means ‘bag is heavy’ ‘ka' _
o si’ means mteiestmg book’ and ‘de ti’ means ‘that bag ~Which of the followmg means . L

-~ “that is mtetestmg in that code 1anguage‘7 Sl Sk 5
“A)karena o B)desire i C)tipo ka D) kade ne

o 'Dlrectmns Q.No. 37 to 39: Read the pattem of words/numbets and ﬁnd the mlssmg term from -
- the glven alternatives: . : : : : o U

.'_.-‘37. - XAF, WBG, VCH'UDI, ‘?, G

CATATL BT 'j:‘?-' 0 iEJ. ' - D)tEK L

"a’;3$t(¥[135 258, 345, 9-1 - .
om0 8)4?2 C)424 :

LAY 32 B)34 C)36 | D)38

8 40 '.""_":_Kalan takes a cab and “goes 20 km south He gets down and waiks 5. km 0 the East to _' i :
oo reach a shop “After shopping, he takes an autorickshaw and travels 25 km left ﬁom the S

L 35.j_shop to teach his friend’s house. IIow ffu is he ﬁom the stallmg pomt now‘? S
oA 5v2 km Nmtb-East LR B) 5 km North-East .. o
. 0) 45 km South = ~Dy25 km South—West

o 41 If ‘A+B’ means that A is the blothe; of B A B’ means that A IS the fathel of B and ‘A ; | s
© 1 x B means that A is the s;stel of B Wlneh of the followmg means ‘M’ is the uncle of The

'ﬁiA)Nl NxP B)N 1»~N1 ; (3&443 }{\P IDL4+L fo

Ehe 42 b Neha Says, Amuta $ fdthel Rdj is the only son of 111y fathel 1n law Mahesh hen how is o

- "Bindu, who is the sister ofAmutazeia_ted to Mahesh. - -
-fA) Daughtel m an B) Ddughtet :_ C) Wlfe -_ .-f'j - D) Giand daug,htel

e 43 3"In the fol!owmg seues some lettels are mlssmg whlch ate glven m that mdet as one of i

. the altematwes below it. Choose the correct altematlve s
; -“A) ehhfg : B) ggﬂte (‘) ghgﬂl

em

i Du ectmns Q \'o 44 to 46 Read the followmg mfomnt;on and auswex the quesuens gwen :

: :"beiow L :

G .(;) A, B L D, L I G and Il a;c 51ttmg m a !()W 1acmgT\ozth
(D) GAS fomth to the right ofL . :

- (i) . His fourth to the left of D, i o - it

".(iv) ‘C and F, which are not at the ends, are netghboms of B and E lespectwely
S ) “H is next to the left ofA and A is the nelghbour ofB SR

44, What is the position of F‘? o .
A Next to the right of E
" O) Sixth to the right of D i

B) Next 0 the ught of G
D) Between G and H

. sEOmMsa0




45.

L7,

Which of the following statements is not true? R
A) G is the neighbour of H and F B)Bis next to the ught of A

. C)Elsatleﬁend D)DisnexttonghtofB
Who is/ale lhc ne;ghbouu’(s) ofD? e
o A) F anne By Calone : S C) B and C D) None ofthese

]Iow many squa: ¢s arc thele in the foilowmg ﬁgune'? L

-'-'--'.:_*A)9 B2 C)I6 . D)15

e 34.8'._' |
S wilb be twnce that of hlS son. The rat;o of their present agesis =
SA) 52 B)73 C)92 '_ D)134

The age of fathel 10 year ago. was thuce the age of hm son. Ten years hence father s age _ 2

A pamtel is glven a task o pfunt a cublcai box w1th sxx diffelent coIouls f01 dlffenent_ % :
"'-ﬁc_cs of the cube. The details are: 7 S - S S

i (i) "Red face c;hould lie between yellmv and b:own ﬁzces

= 55 :

i "-Fmd thc numbei of petsons who ha\re atleast two somces of eammg .
L _-A) 19 _ B) 21 El (,) 25 :

b Gi) ‘Green face should be dedcu)t to the silver f'ieo
T U(iR)  Pink face should lie adjacent o the gleen face
(iv) Brown face should have face down, - -
) “Sitver and pink faces should he opposne to each 0the1
. The face opposne to led 1500 R
o A)Yellow - B)Green . |
G :'50.___.-_;1--;}11 1hc fo]lowmg dldglam tu‘mg[e shows pelsons eal nmg by wo1l\1ng in offces squale e
o "deplets earning by worklng in factoues and the cncie deplcts pelsons eammg by lunnmg _
i _f own busmess 5 : SN Ert : e SR

C) Pink D) Sllvel

: The umt ofkmematle v1scosaty is. B e A
U A) gmiem-sec” B) dyne ~ sec/cm ' C) gm/cm —S€c. -D) cmzlsec”_ SRt
2. “Surface tension ofwater i : Vi T
i _':'3A) mcw'meq with dcuease in umpeldluxo X B) deoleases wnh demedse m lempei re 3
S C)is mdependent of tempelatme D) none of the above : it
A ﬂoatmg, hody is said to be.ina Sf‘lte ofstable equhbx um.
o :_::' A) when its metacentric helg,hl iszero o
. B) when the metacentre is above the centre of gravlty L
" C) when the metacentre is be}ow the centre of grav1ty
S D) only when its centre of glavuy is below 1ts cenne of buoyancy
Cs4, '

The eddy v;scosny for turbulent ﬂow is.

" A) a function of temperature only B) a physwal property of the ﬂmd _ e

Q) dependent onthe flow = i = D) lndependent of'the ﬂo_w
' Equation of contmuity is based on the prmmple of conservation of SRR
: A) mass B) enelgy C) momentum o D) none of the above S

L SDE(C)/Pageﬁoflﬁ o
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56.

57

R .VA) cross staff - B) optchl squale Y obquue olfsets : D) pelpendrculan oﬁ‘sets e

60.

Whrch of the following scale is the largest one? P ' L
A)lem=50m B)l 5000_0 o C) lcm 50km ' D)Ailaresame -

.The error due to bad rangingis .. ey
o A) camulative ; positive ; B) cumulal;ve negdtlve e i
' _C) compensatmg _' T D) cumulatrve, posrtrve or negatrve o

The posrtlon ofa pomt can be f xed more accurately by -

The puncrple of \vorkmg from whole to part’ is used in surveyrng because B :

. A) plotting becomes easy - SR - B) survey work can be completed qmckly
0 0) accumutatron of errorsls prevented D) all of the above e .
: The followrng bearmgs were observed whrle traversmg with a compass Lo

“tLine F01eBea11ng Back Bearing R

1AaB - 1104°30" R 284° 30 5
BC 481 226700

copen o003 115°15° i

DA |81y |55

o owillbe i
A 9m B) 38111 s C) 57m

S CA) s dl\vdys longest B) is a]\vays shortest C) may be Eongest

e ';: __A) can never be gr_e_a__ter__ than zeto
s C) can never be less than zero -
i UA) total duration of pro_;ect is 1educed i B) total duration of prOJect is 1ncreased

o Whlch s[auons \vere 'xh‘eeted by ]ocal aﬂtactrorﬁ i R B
A)A&B B)B&C C)C&D D)A&D

‘Which of the folIowmg does not 1epr esent an actrvrty‘? 3

aA)sitelocated 'B) foundatron is berng dug

7 ©)the office avea is being eleaaed

S 'A) its latest finish time and earliest start fime for its successor act:vrty s

1 B) its latest start time and earliest start time i i

Q) s latest start time and carliest finishtime 70 om0 e

e D) s ealllesl finish trme and earlrest start ‘nme for :ts successor ac‘uvrty =
. Critical path = % o - o - s L :

. The water utllrzabl_e by plants is avarlable in soils marnly in the form of i
L A) gravrty water - B) caprllary water . C) hydloscopic water D) chemlcal watei s
: _The major resrstmg force in a gtavlty dam is - ' ol S e
e A) water pressure =B). wave pressure C) self werght of dam : D) uphft pressu;e e
o Aecoz(lmg to Khosla s theor A the emt gladlent in the absence of a downstream cu_toff rs :
o A)zero 3_1; B) umty 0 mﬁmty D) very large S
Wetted peumeter of a 1eg1me channel for a dlseharge of 64 cumecs as pel Lacey s theory_'-: Lo

D) 76111

1f Pis the depth of seom be]ow ougma] bed tben the wrdth of lat chmg apron Is'ﬁ';-'"‘__-'.-:_l:-_;' ..
":gcnera]}y takcn as; : - BH g i

A12D 'B)iso c)zoo D)25D L

47 D) the invitations are bemg sent B S
Total float for any activity is deﬁned as the drffel ence between =

'D) may be shorlest

Slack time in PERT andlys;s SRR

; B) is always ZE10. for cu‘ueal aetrvmes
L D) is mmlmum for crrtrcal events
In resource levelling : P

i C) umform demand of resources is achreved D) cost of prOJect is contlo!led

. SDE(C)Page7ofl0
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S LS m, specific glawty 2.67 and voids 1at:o 0.67isequalto "~ e
e oA m B L Smo C)20m L D) _390.m_._- :
74,

s,

S 77

i o i 'A) 25mm: i B): 25 to 40 mm . C) 40 to 65 mm_ D) 65 10 100 mm

: ';Neoplene is ‘;ltllable for use m
-+ A) bearings ofbudgjes i i
E :'___(,)Jomely works . o
m
e '__':__comptesswe stlengthls S s i
LR Ay lOto 15% B) 15 to20% C)20 to 25% .ﬁ_ : D)ZS:_t_o__30_%
o Ay wood or coal i
() chlom'lte Lll}C ehloudo i

S lensﬂe shength of conct ete is measmed by
LAY ducet tension test in UTM - R :
SR applying ‘compressive load dlong, the (h‘tmetm of the cylmdel

. C) applying third point loadmg onaprism
i -D) applymg tensﬂe load along the d1amete1 of the cylmdel
© " A) limestone & Bauxite o By limestone, bauxite and gypsum i

A fully saturated soil is said to be

--A) one phase system - - B) two phase system with sml and air

C) two phase system with soil and water D) three phase system

- If the volume of voids is equal to the volume ol" SOll(lS ina 3011 massy then the valuos of o
: poms:ty and voids ratlo respectively are ' :

A)10ad0  B)0adl0 ‘C)(}SandIO D)lOandOS

The hydlauhc head that would ploduce a qulok COlldlllOll in a sand 5t1dtum of ilnel\ness S S

*Ifthe permeablhty of a soil is 0, 8mm/see, the type of soﬂ is _' e
~A)Gravel - B)sand DR Osile - = D) clay

- For sand of umfozm spheucal paltlcles, the rat1o of v01d 1at10 m the loosest and the

- densest states is g s 5 .
. A)26 B)35 C)46 ' D)30

dn whmh of the followmg dnechons the stlength of tnnbex is mammum _';f. :
A parallel to grains 0 o -B) 45%to grains R N
() ])EIPGH(IICUlaI to gmms ';_ D) same in all duec!ions PR e

, The mo1stule eontcnt ina weil se%oned iambex is . e S
e ':_-:-A)4to6% o B) 10t 12% C) 15t020% i D) 100%- S
Lo “la1gedams’7 _ b :
0 A) Ordinary Portland cement : S B) Low heat cement
i '.'._--C) Rapld har demng, cement D) Sulplnte 1e51stmg cement

Which of the followmg cements is suttable for use m mass conc1etmg worl(s sueh as”" '

'_'-:_;Paknts w1th whlte lead base ate smtabie f01 pamtmg of . SR LR
% __A) woodwork B) nonwoxk 0 both woodwmk and nonwmk D) none of the above i

The ma\nnum total settlement for raft foundatlon on elayey smls should be lumted to R

B) hald duty]ubbe[ Coatmgs of ﬂooxs 8 s
D) ﬂoms ofdance halls e i

The spllt tcniﬂle shength of MIS ;z,lade conc:ete when C\plCSSCd as a pClCG]]deC of 1ts_'..;;'. . g

The wood plesewatwe meosote 1s deuved from i
L B) aCIdlC cupuc chlomate SHy
D) pmtachlmophenol G

ngh Alumina cement is ploduced by fusmg togethe1 a lmxture of

s ':'C) ltmestone gypsum & clay D) llmestone, gypsum bauxtte elay & chalk : R

. SDE(C)PageSof10
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To make one cubic meter of 1:2:4 by volume concrete the volume of coarse aggregate

. required i is .
SA)09Sm B)085m : C)075m _ --.--'D)0.65rn-- P
“Before tcstrng settmg time of cement one should test for: s L
A) soundness " B) strength - C) ﬁneness S D) consrstency S
A splitting tensile test is performed on a cylrnder of drarneter *.and length ‘L. If the
~.ultimate load is ‘P’ then the splrttrng tensrle strength of concrete rs given by ‘i i
A)YPDL B)2P/mDL C) 4PL/nD3 D) 2pPD/ nL3 fiRes e

Increase rn frneness of cement

“A) reduces the rate of strength desteloprnent and leads to hrgher shrrnkage _ Py
B) increases the rate of strength development and reduces the rate of deterroratron ST AR P

i C) decreases the rate of strength development and increases the bleeding of cement

90,

D) increases the rate of strength development and leads to hrgher shrrnkage

: '_'The dragr am showrng the varratron of axral load along t the span is called o
© - A) shear force dragram S :'B) bending moment dragram _3;' Sl

. ~O) thrust diagram o ~.1)) influence line diagram

A prrsmatrc beam ol length l and ﬁ\ed at both ends carrics a unrformly dzstrlbutcd lmd L

o The distance ofpornts ot"contr(rﬂe\ure ﬁom either end is '_ i

CUA02071 BYO2I1L 002771 Dyozs) G
“Two beams, one of errcular x-sectron _and other of square x—sectron have equal areas of_'__' L

- x-section. If subjected to bending

CA) circular section is more economrcal ;: : B) square sectron rs rnore economrcal

Sk -~C) both sections are: cqually strong ~ID) both sections are equa!ly Stiff

Eulers’. formula for a mrld steel long colurnn lnnged at both ends 1s not valrd for "

E ';*slenderncss ratio. oL

LAY greater than 80 - B) less than 80 C) greater than 180 D) greater tlnn 120 S
If a orrcular shaft is subjected toa torque T and bendrng rnoment M the 1atro of Sh
- maximum bendrng stress and rnaxrmum shear stress is L : :
A ZM/T - BMAT o C) M/T D) 2T/M
. _--_-_'Strarn energy stored rn a rnember is grven by ' e _
o AY 0.5 x stress X volume o B) 0 5 X Sl[dlll X volumc
Rt e N LD | stress X Strdm X volurne S D) 0.5 )s stress X strarn
B T
S T ) >0y If S0 denoted yreld stress tlren accordmg to the mamrnum slrear stress
i '-_theory R T e S
©A)oi-62 =00 .
_The degree of statrc rndetezmmacy of a pm-Jomted space frame is given by .-

Ina strarned body, three prrncrpal stresses ata pomt are denoted by or 5 oz, 03 such that

B) 01—03 = 00 C)Gz 03 —-Go D)Gr+02 = Ge

A)ymtr— 2] el iBymtbr -3 C)3m+r 33 D)lll+r+3j

“where ‘m’ is number of unknOWn member forces s unknown reactron components: S

s ~oand §Cis number oflomts R ey L : G S
T _::A symnretrrcai 1wo- hmged parabolrc arclr when sub_]ected to a unrforrnly drstrrbute(i load
“on the entrrelron?ont'rl sp’m rs sub;ect to o : Sk S
A radial shearalone = B) normal thrust alone L _
- C)normal thrust and bcndmg moment D)norma] thrust radral shear and: hendmg rnomen i
A symmetucal parabolrc arch of span 20 m and rise 5. m is lnnged at the springing. It
- supports a uniformly drstrrbuted load of 2t/m run of the span The horrzontal thr'ust m_--'

" tonnes at each of the sprrngrng is

100, F

_'_Alkalr—aggregate 1eactron can be controlled by
. A) use of non-reactive aggregates S B) controlhng humrdlty I
e "_'_C) use oflow alkalr OPC S D) all ofthe above S L

".":_::-SDE(C)?Page_9_..9"f.10_ i
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Post: SDE Civil (29.03.2014, Evening Session)

Ans.

76
77

78
79

80
81

82

83

84
85
+ '*?8_6 :

87,

" 88
.89

9
o
92

94
95

99 ¢

Ans.

51

52
53

54
55

56

57
58

59

60

61
62

63

e

65
66

68

69

70

12

5

Ans.

26
27

28

29
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34
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33
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40 .

41

Y43
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46
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50
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10
11

12

13
14
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16

17
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